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Function Transformations Part 2 Name: Date: a \I a8 ! !7
WARM UP
Match the function with its h. (

1) fix) = Ix—-3?> 2) f{x) = || +2 3) f(x) = -(;:-2)z 4) fx) = (x+2)*-2

a. ij.y. : h \ f? c 11 ;:;:-\ j ] d. l’\\ :u?”
MH e R val
—$-2 | 3 .47x K ) D) m AKX x-;’;i
: 4 ~ C L . ¢
A\ij\fx)acx’é)’ o wERrs DI DW=l
a. any "b. an.'( 4 [ . 3 - d. aar}p ;
f Ty N \‘i/
. S AVV N i AENEENY
-2-6-4-1 | x Ty 24 6 §X EEX b X ~4-2 ¢ 2 4%~
Trans forma (ﬁmch oNS)
e . 1] A w_nu .
" WSt d? <ubtract Cld (negafc sq@
Ix (x) x| Right  Lett  reflechon
< >, \ﬂ—GXIS

\ de ' d <=whact -7
OHS\O;§~ (] O\L()j‘b down ("Q'g‘ﬁ"‘)
= @ 2 XIS

% (eflechon

!




Function Transformation day2 2017.notebook February 28, 2017

Function Transformations Part 2 Name: Date:

For each of the following, graph part (a) first then graph parts (b) and (c) in the same window.
Let f(x) = x2 and g(x) = Vx.

Graph Formula [\ 1) Observations
N7

1. a) y=f(x) 9:‘ )ko\ Pa(abb'&
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For problems 3-7, given the parent function and a description of the transformation, write the equation of

the transformed function, f(x). & Q( - q)
L4

3 Llnear vertical stretch/compression by horlzontalshn‘tsj-

4. Qu atic - vertical stretch by 5, horizontal shift left 8 (A- 5_(X+ g\

5_
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5. Exponential - vertical shift by 7, horizontal shift 11
S
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6. (qadratic — vertical stretch/compression 47, vertical shift down 2 u = f?(X\ a
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U= X ‘j 7%t
7. Radical — shift down 4, right 2, vertical stretch by 3 lA_S & x_ D\
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State the parent function and the transformation(s)
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L) f@)+2 D

2.) 3f(x)

Function Transformations Part 2 Practice name:

Exercises

For #1-10, suppose that f(x) = 2®. Match each of the numbered functions
on the left with the lettered function on the right that it equals.

A) (—z)®

J.) (z+2)°
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Describe the trans,

date:

apphed to the parent function f(x) = x%. Then doémnk sketch of each on.

1 f(3x)+2 H‘ g\,\mss 3 --f(x-Z)

3. —=f(x +5)
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4. g(x)=(x—-1)2

5.9(x)=2x2-8

6. g(x) = —(x+6)2
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Describe the transform denoted by g(x) using the function f(x) = 2* as the parent function. Write g(x) in
terms of f(x) and then do a quick sketch of the graph of g(x). The function f(x) is already graphed for you.

19. g(x) = 2* + 4

20. g(x) = 25+4

21. g(x) =2 -3
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22. g(x) = 205x 23. g(x) =2% 24. g(x) =2"%&
filxig fix)p fixig
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3. Match each function with its graph.
a) y=vx—2
b) v = V=X + 2
€ y=—Vx+2
d) y=—V-x-2
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2. Explain how to transform the graph

of y = VX to obtain the graph of each

function. State the domain and range in

each case.

a) y=7vVx -9
b) y=v=Xx+38
€) y=—vV0.2x

d)4+y=%- X+6

Describe the transformations to the parent function y= |r] to create the following functions.

L y=|x——2| y S y=|q4+3
Transformation: Transformation:

3. y=2x+3 4. y=3lx
Transformation: Transformation:

5. y=-2x+3-1 6. y=2x+§
Transformation: Transformation:
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